

## City of Pembroke Pines

## Procurement

Mark Gomes, Procurement Director 601 City Center Way, Pembroke Pines, FL 33025

## **EVALUATION TABULATION**

IFB No. TS-25-03

## **AVA Cameras**

RESPONSE DEADLINE: February 18, 2025 at 2:00 pm Report Generated: Wednesday, March 19, 2025

## **SELECTED VENDOR TOTALS**

Vendor	Total
WESCO Distribution, Inc.	\$40,050.00
GHA Technologies, Inc	\$40,317.20
Gerelcom Inc.	\$42,833.28
Southern Computer Warehouse, Inc.	\$44,858.31
BCI Integrated Solutions	\$45,111.78
JAG TECH ENTERPRISES LLC	\$49,987.59
Industrial Communications & Electronics, Inc.	\$52,415.00
Software Information Resource Corp	\$52,611.89
Johnson Controls Security Solutions LLC	\$53,510.11

Vendor	Total
AdaptToSolve, Inc	\$53,765.10
Alpha Security and Fire Alarm Services. Inc.	\$55,165.00
EZ SECURITY CORP	\$55,575.00
Fortified Security Solutions	\$55,588.02
Zones LLC	\$62,362.81

<b>WESCO</b> Distribution,
Inc.

		<u> </u>			
Line Item	Description	Quantity	<b>Unit of Measure</b>	<b>Unit Cost</b>	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$885.00	\$13,275.00
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$1,650.00	\$13,200.00
3	Conduit back box in White for Bullet	15	Each	\$95.00	\$1,425.00
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$118.00	\$944.00
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$118.00	\$944.00
6	Wall Mount for large pendant camera	5	Each	\$70.50	\$352.50
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$70.50	\$352.50
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$230.00	\$1,840.00
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$105.00	\$840.00
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$299.00	\$6,877.00
	Total				\$40,050.00

<b>GHA</b>	Tec	hno	logi	ies	Inc
UITA	ICU		UB	Co,	IIIC

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$892.44	\$13,386.60
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$1,672.35	\$13,378.80
3	Conduit back box in White for Bullet	15	Each	\$94.65	\$1,419.75
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$118.63	\$949.04
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$118.63	\$949.04
6	Wall Mount for large pendant camera	5	Each	\$72.23	\$361.15
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$68.46	\$342.30
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$231.83	\$1,854.64
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$105.38	\$843.04
	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$297.08	\$6,832.84
	Total				\$40,317.20

Gerelcom	Inc

Line Item	Description	Quantity U	Init of Measure	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, AI-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$948.12	\$14,221.80
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$1,776.69	\$14,213.52
3	Conduit back box in White for Bullet	15	Each	\$100.57	\$1,508.55
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$126.05	\$1,008.40
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$126.05	\$1,008.40
6	Wall Mount for large pendant camera	5	Each	\$76.73	\$383.65
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$72.74	\$363.70
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$246.30	\$1,970.40
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$111.95	\$895.60
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$315.62	\$7,259.26
	Total				\$42,833.28

				Southern Wareho	•
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$990.00	\$14,850.00
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$1,869.94	\$14,959.52
3	Conduit back box in White for Bullet	15	Each	\$109.99	\$1,649.85
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$134.99	\$1,079.92
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$139.99	\$1,119.92
6	Wall Mount for large pendant camera	5	Each	\$79.99	\$399.95
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$79.99	\$399.95

Each

Each

Each

8

23

\$259.95

\$119.95

\$320.00

\$2,079.60

\$7,360.00

\$44,858.31

\$959.60

Optional IR illuminator ring, up to 30m (100ft), for use

Gigabit 802.3bt 60 W PoE Injector, Indoor, single port

Subscription to Ava Aware Cloud, per (36 mos)

with H4AMH-DOCOVR1.

8

9

10

Total

					egrated tions
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, AI-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$979.55	\$14,693.25
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$1,835.60	\$14,684.80
3	Conduit back box in White for Bullet	15	Each	\$111.23	\$1,668.45
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$144.51	\$1,156.08
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$144.51	\$1,156.08
6	Wall Mount for large pendant camera	5	Each	\$103.21	\$516.05
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$99.12	\$495.60
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$267.70	\$2,141.60
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$130.00	\$1,040.00
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$328.69	\$7,559.87
	Total				\$45,111.78

JAG TECH ENTERPRISES
LLC

	<u> </u>				
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,101.57	\$16,523.55
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,047.97	\$16,383.76
3	Conduit back box in White for Bullet	15	Each	\$124.29	\$1,864.35
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$163.88	\$1,311.04
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$189.19	\$1,513.52
6	Wall Mount for large pendant camera	5	Each	\$109.69	\$548.45
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$97.89	\$489.45
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$301.25	\$2,410.00
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$64.85	\$518.80
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$366.29	
	Total				\$49,987.59

			Indu	strial	
				Communi	cations &
				Electror	nics, Inc.
Line Item	Description	Quantity	<b>Unit of Measure</b>	<b>Unit Cost</b>	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,160.22	\$17,403.30
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,174.16	\$17,393.28
3	Conduit back box in White for Bullet	15	Each	\$123.06	\$1,845.90
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$154.24	\$1,233.92
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$154.24	\$1,233.92
6	Wall Mount for large pendant camera	5	Each	\$93.90	\$469.50
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$89.00	\$445.00
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$301.39	\$2,411.12
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$137.00	\$1,096.00
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$386.22	\$8,883.06
	Total				\$52,415.00

				Software Information Resource Corp	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, AI-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,160.92	\$17,413.80
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,175.47	\$17,403.76
3	Conduit back box in White for Bullet	15	Each	\$124.29	\$1,864.35
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$155.79	\$1,246.32
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$155.79	\$1,246.32
6	Wall Mount for large pendant camera	5	Each	\$94.83	\$474.15
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$89.90	\$449.50
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$304.40	\$2,435.20
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$138.36	\$1,106.88
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$390.07	\$8,971.61

\$52,611.89

Total

<b>Johnson Controls</b>
<b>Security Solutions LLC</b>

Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,184.46	\$17,766.90
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,219.57	\$17,756.56
3	Conduit back box in White for Bullet	15	Each	\$125.64	\$1,884.60
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$157.45	\$1,259.60
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$157.46	\$1,259.68
6	Wall Mount for large pendant camera	5	Each	\$90.87	\$454.35
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$95.87	\$479.35
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$307.69	\$2,461.52
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$139.86	\$1,118.88
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$394.29	\$9,068.67
	Total				\$53,510.11

$\Lambda$		'oSo	110	100
			WE	
7 1010	961	000	, C	

Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, AI-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,192.39	\$17,885.85
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,234.43	\$17,875.44
3	Conduit back box in White for Bullet	15	Each	\$126.48	\$1,897.20
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$158.52	\$1,268.16
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$158.52	\$1,268.16
6	Wall Mount for large pendant camera	5	Each	\$75.82	\$379.10
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$91.48	\$457.40
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$309.75	\$2,478.00
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$140.80	\$1,126.40
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$396.93	\$9,129.39
	Total				\$53,765.10

<b>Alpha Security and Fire</b>
Alarm Services. Inc.

Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, AI-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,100.00	\$16,500.00
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,395.00	\$19,160.00
3	Conduit back box in White for Bullet	15	Each	\$135.00	\$2,025.00
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$175.00	\$1,400.00
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$175.00	\$1,400.00
6	Wall Mount for large pendant camera	5	Each	\$125.00	\$625.00
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$95.00	\$475.00
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$330.00	\$2,640.00
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$160.00	\$1,280.00
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$420.00	\$9,660.00
	Total				\$55,165.00

# **EZ SECURITY CORP**

		<del></del> _			
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,220.00	\$18,300.00
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,330.00	\$18,640.00
3	Conduit back box in White for Bullet	15	Each	\$130.00	\$1,950.00
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$160.00	\$1,280.00
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$160.00	\$1,280.00
6	Wall Mount for large pendant camera	5	Each	\$100.00	\$500.00
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$95.00	\$475.00
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$320.00	\$2,560.00
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$145.00	\$1,160.00
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$410.00	\$9,430.00
	Total				\$55,575.00

					Security tions
Line Item	Description	Quantity	Unit of Measure	<b>Unit Cost</b>	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,206.70	\$18,100.50
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,261.24	\$18,089.92
3	Conduit back box in White for Bullet	15	Each	\$128.00	\$1,920.00
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$167.40	\$1,339.20
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$276.20	\$2,209.60
6	Wall Mount for large pendant camera	5	Each	\$101.90	\$509.50
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$96.60	\$483.00
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$313.47	\$2,507.76
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$148.68	\$1,189.44
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$401.70	\$9,239.10
	Total				\$55,588.02

Zones	ш	C

	Description	Quantity			
		Quantity	Unit of Measure	Unit Cost	Total
	AVA Bullet White, wide lens, 30 days onboard				
	retention, 5MP, Al-powered camera, IR and advanced				
	microphone array, indoor and outdoor, put to 10 year				
1	warranty with an active aware license	15	Each	\$1,284.00	\$19,260.00
	5MP, 30 Day, Alta, 4 Head H5A Multisensor Cameras,				
2	up to 10 year warranty with an active Aware License	8	Each	\$2,509.15	\$20,073.20
3	Conduit back box in White for Bullet	15	Each	\$165.85	\$2,487.75
	Outdoor pendant mount adapter. For use with the				
4	Avigilon H5A Multisensor	8	Each	\$208.65	\$1,669.20
	Dome bubble and cover, for outdoor surface mount or				
	pendant mount, clear. For use with the Avigilon H5A				
5	Multisensor	8	Each	\$208.65	\$1,669.20
6	Wall Mount for large pendant camera	5	Each	\$144.45	\$722.25
7	Pole Mount for Irge PENDT WLMT-1001	5	Each	\$112.35	\$561.75
	Optional IR illuminator ring, up to 30m (100ft), for use				
8	with H4AMH-DOCOVR1.	8	Each	\$267.50	\$2,140.00
9	Gigabit 802.3bt 60 W PoE Injector, Indoor, single port	8	Each	\$215.07	\$1,720.56
10	Subscription to Ava Aware Cloud, per (36 mos)	23	Each	\$524.30	\$12,058.90
	Total				\$62,362.81

L

Question	WESCO Distribution, Inc.	GHA Technologies, Inc	Gerelcom Inc.	Southern Computer Warehouse, Inc.	BCI Integrated Solutions	JAG TECH ENTERPRISES LLC
CONFIRMATION TO BIND						
I certify that I have read, understood and						
agree to the terms in this solicitation, and						
that I am authorized to submit this						
response on behalf of my company.	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
PROJECT DOCUMENTS						
PROPOSERS BACKGROUND						
INFORMATION FORM	Included	Included	Included	Included	Included	Included
STANDARD DOCUMENTS						
NON-COLLUSIVE AFFIDAVIT	Included  A) Neither the entity submitting this sworn	Included  A) Neither the entity submitting this sworn	Included  A) Neither the entity submitting this sworn	Included  A) Neither the entity submitting this sworn	Included  A) Neither the entity submitting this sworn	Included  A) Neither the entity submitting this sworn
	statement, nor any officers, directors, executives.	statement, nor any officers, directors, executives.	statement, nor any officers, directors, executives.	statement, nor any officers, directors, executives.	statement, nor any officers, directors, executives.	statement, nor any officers, directors, executives.
	partners, shareholders, employees, members, or	partners, shareholders, employees, members, or	partners, shareholders, employees, members, or	partners, shareholders, employees, members, or	partners, shareholders, employees, members, or	partners, shareholders, employees, members, or
	agents who are active in management of the entity,	agents who are active in management of the entity,	agents who are active in management of the entity,	agents who are active in management of the entity,	agents who are active in management of the entity,	agents who are active in management of the entity
SWORN STATEMENT ON PUBLIC ENTITY	nor any affiliate of the entity have been charged	nor any affiliate of the entity have been charged	nor any affiliate of the entity have been charged	nor any affiliate of the entity have been charged	nor any affiliate of the entity have been charged	nor any affiliate of the entity have been charged
CRIMES FORM	with and convicted of a public entity crime subsequent to July 1, 1989.	with and convicted of a public entity crime subsequent to July 1, 1989.	with and convicted of a public entity crime subsequent to July 1, 1989.	with and convicted of a public entity crime subsequent to July 1, 1989.	with and convicted of a public entity crime subsequent to July 1, 1989.	with and convicted of a public entity crime subsequent to July 1, 1989.
CHAINES FORM	Vendor's original submission included two selection	subsequent to July 1, 1989.	subsequent to July 1, 1363.	subsequent to July 1, 1989.	subsequent to July 1, 1985.	subsequent to July 1, 1985.
	A & B. However, the Procurement Department					
	contacted the vendor for clarification and they	Contractor currently complies	Contractor currently complies	Contractor currently complies	Contractor will not Comply	Contractor currently complies
	provided an updated form selecting option B only, "Contractor will comply with the conditions of this					
EQUAL BENEFITS CERTIFICATION FORM	section at the time of contract award."					
VENDOR DRUG FREE WORKPLACE		Door not most	Complies 5: Ille	Complies Fulls	Complies Fulls	Complies Fulls
CERTIFICATION	Complies Fully	Does not meet requirements	Complies Fully	Complies Fully	Complies Fully	Complies Fully
SCRUTINIZED COMPANY CERTIFICATION	Included	Included	Included	Included	Included	Included
E-VERIFY SYSTEM CERTIFICATION	Included	Included	Included	Included	Included	Included
HUMAN TRAFFICKING AFFIDAVIT	Included	Included	Included	Included	Included	Included
VENDOR INFORMATION FORM	Included	Included	Included	Included	Included	Included
FORM W-9 (REVISED MARCH 2024)	Included	Included	Included	Included	Included	Included
OPTIONAL DOCUMENTATION						
TRADE SECRETS						
FINANCIAL STATEMENTS ALTERNATIVES						
ALIERNATIVES						
ADDITIONAL INFORMATION				Quote	List of Current Major Project	
PROFESSIONAL LICENSES				Quote	Electrical Contractor Certificate	
VENDOR CLASSIFICATION					Electrical contractor certificate	
Is your firm a Local Pembroke Pines						
Vendor (LPPV) and Local Broward County						
Vendor (LBCV)?	No	No	No	No	No	No
Please indicate your Local Vendor Status	N/A	N/A	N/A	N/A	N/A	N/A
Local Vendor Preference Certification	N/A	N/A	N/A	N/A	N/A	N/A
Local Business Tax Receipts	N/A	N/A	N/A	N/A	N/A	N/A
Is your firm a Veteran Owned Small						
Business (VOSB)?	No	No	No	No	No	No
Determination Letter from the United						
States Department of Veteran Affairs  Center	21/2					
22.22		21/2	A1/A	N/A	21/2	A1/4
Is your firm a Minority-Owned Business	N/A	N/A	N/A	N/A	N/A	N/A
Enterprise (MBE)?  Please indicate the classification of your	N/A No	N/A No	N/A No	N/A No	N/A No	N/A Yes
Please indicate the classification of your						
	No	No	No	No	No	Yes
Please indicate the classification of your Minority-Owned Business Enterprise						
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)	No N/A	No N/A	No N/A	No N/A	No N/A	Yes
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation	No N/A	No N/A	No N/A	No N/A	No N/A	Yes
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business	No N/A N/A	No N/A N/A	No N/A N/A	No N/A N/A	No N/A N/A	Yes Hispanic-American MBE
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor	No N/A N/A No N/A	No N/A N/A No N/A	No N/A N/A No N/A	No N/A N/A No N/A	No N/A N/A Yes WBE Certificate	Yes Hispanic-American MBE No N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?	N/A N/A NO	N/A N/A N/O	N/A N/A N/O	N/A N/A N/O	N/A N/A Yes	Yes Hispanic-American MBE No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area	No N/A N/A No No N/A	No N/A N/A NO N/A NO N/A	No N/A N/A No No N/A	No N/A N/A No No N/A No	No  N/A  N/A  Yes  WBE Certificate  No	Yes  Hispanic-American MBE  No N/A No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation	No N/A N/A No N/A	No N/A N/A No N/A	No N/A N/A No N/A	No N/A N/A No N/A	No N/A N/A Yes WBE Certificate	Yes Hispanic-American MBE No N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small	No  N/A  N/A  No  N/A  No  N/A	No N/A N/A No N/A No N/A	No N/A N/A No N/A No N/A	No N/A N/A NO N/A NO N/A	No  N/A N/A Yes WBE Certificate No N/A	Yes  Hispanic-American MBE  No N/A  No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?	No  N/A  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No	No  N/A  N/A  Yes  WBE Certificate  No  N/A  Yes	Yes  Hispanic-American MBE  No N/A  No N/A  No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation	No  N/A  N/A  No  N/A  No  N/A	No N/A N/A No N/A No N/A	No N/A N/A No N/A No N/A	No N/A N/A NO N/A NO N/A	No  N/A N/A Yes WBE Certificate No N/A	Yes  Hispanic-American MBE  No N/A  No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business	No  N/A  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A	No  N/A N/A Yes WBE Certificate  No N/A Yes SBE Certificate	Yes  Hispanic-American MBE  NO N/A  NO N/A  NO N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (MBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)?	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  N/A  Yes  WBE Certificate  No  N/A  Yes  SBE Certificate	Yes  Hispanic-American MBE  No N/A  No N/A  No N/A  No N/A  No N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation	No  N/A  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A	No  N/A N/A Yes WBE Certificate  No N/A Yes SBE Certificate	Yes  Hispanic-American MBE  No N/A  No N/A  No N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation Is your firm a Broward County Business	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A N/A Yes WBE Certificate  No N/A Yes SBE Certificate	Yes  Hispanic-American MBE  NO N/A  NO N/A  NO N/A  NO N/A  NO N/A  NO N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (SBE)?  CBE Certification Documentation Is your firm a Broward County Business Enterprise (SBE)?	No  N/A  N/A  No	No  N/A  N/A  No	No  N/A  N/A  No	No  N/A  N/A  No  N/A  No	No  N/A  N/A  N/A  Yes  WBE Certificate  No  N/A  Yes  SBE Certificate  No  N/A  No	Yes  Hispanic-American MBE  No N/A  No N/A  No N/A  No N/A  No N/A  No N/A  No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?  DBE Certification Documentation	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A	No  N/A N/A Yes WBE Certificate  No N/A Yes SBE Certificate	Yes  Hispanic-American MBE  NO N/A  NO N/A  NO N/A  NO N/A  NO N/A  NO N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (SBE)?  CBE Certification Documentation Is your firm a Broward County Business Enterprise (SBE)?	No  N/A  N/A  No	No  N/A  N/A  No	No  N/A  N/A  No	No  N/A  N/A  No  N/A  No	No  N/A  N/A  Yes  WBE Certificate  No  N/A  Yes  SBE Certificate  No  N/A  No  N/A	Yes  Hispanic-American MBE  No N/A  No N/A  No N/A  No N/A  No N/A  No N/A  No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?  DBE Certification Documentation Does your firm bareard County Disadvantaged Business Enterprise (DBE)?	No  N/A  N/A  No  N/A	No  N/A  N/A  No	No  N/A  N/A  No  N/A	No  N/A  N/A  No  N/A	No  N/A  N/A  N/A  Yes  WBE Certificate  No  N/A  Yes  SBE Certificate  No  N/A  No	Yes  Hispanic-American MBE  NO N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)  MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (SBE)?  CBE Certification Documentation Is your firm a Broward County Business Enterprise (SBE)?  CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?  DBE Certification Documentation Does your firm have a Vendor Classification that was not listed above?	No  N/A  N/A  No  N/A	No  N/A  N/A  No	No  N/A  N/A  No  N/A	No  N/A  N/A  No  N/A	No  N/A  N/A  Yes  WBE Certificate  No  N/A  Yes  SBE Certificate  No  N/A  No  N/A	Yes  Hispanic-American MBE  No N/A  No N/A

Industrial Communications &		Johnson Controls Security Solutions		Alpha Security and Fire Alarm Services.		
Electronics, Inc.	Software Information Resource Corp	ис	AdaptToSolve, Inc	Inc.	EZ SECURITY CORP	Fortified Security Solutions
Confirmed	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
Included	Included	Included	Included	Included	Included	Included
Included	Included	Included - Not Signed	Included	Included	Included	Included
A) Neither the entity submitting this sworn	A) Neither the entity submitting this sworn	A) Neither the entity submitting this sworn	A) Neither the entity submitting this sworn		A) Neither the entity submitting this sworn	meradea
statement, nor any officers, directors, executives,	statement, nor any officers, directors, executives,	statement, nor any officers, directors, executives,	statement, nor any officers, directors, executives,	<ul> <li>A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners,</li> </ul>	statement, nor any officers, directors, executives,	B3) The person or affiliate has not been on the
partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	shareholders, employees, members, or agents who are	partners, shareholders, employees, members, or agents who are active in management of the entity,	convicted vendor list. (Please describe any action
nor any affiliate of the entity have been charged	nor any affiliate of the entity have been charged	nor any affiliate of the entity have been charged	nor any affiliate of the entity have been charged	active in management of the entity, nor any affiliate of	nor any affiliate of the entity have been charged	taken by or pending with the Department of
with and convicted of a public entity crime	with and convicted of a public entity crime	with and convicted of a public entity crime	with and convicted of a public entity crime	the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	with and convicted of a public entity crime	General Services.)
subsequent to July 1, 1989.	subsequent to July 1, 1989.	subsequent to July 1, 1989 Not Signed	subsequent to July 1, 1989.	public criticy critic subsequent to saly 1, 1505.	subsequent to July 1, 1989.	
					D. Contractor does not Comply With the conditions	
Contractor currently complies	Contractor currently complies	Contractor currently complies - Not Signed	Contractor currently complies	Contractor currently complies	of this section because of the following allowable exemption: 1. The Contractor does not provide	Contractor currently complies
contractor currently complies	contractor currently complies	contractor currently complies (NOC SIBILE)	contractor currently complies	contractor currently complies	benefits to employees' spouses in traditional	contractor currently complies
					marriages;	
Included - No Selection	Complies Fully	Complies Fully	Complies Fully	Complies Fully	Complies Fully	Complies Fully
Included Included	Included Included	Included Included	Included Included	Included Included	Included Included	Included Included
Included	Included	Included	Included	Included	Included	Included
Included	Included	Included	Included	Included	Included	Included
Included	Included	Included	Included	Included	Included	Included
			SunBiz			
		Tax Payer Identification	Avigilon Certificate			
	SunBiz	Tax rayer identification	Propossal			references
		Electrical Contractor License			Electrical Contractor License	
No	No	Yes	No	Yes	No	No
N/A	N/A	Local Broward County Vendor (LBCV)	N/A	Local Broward County Vendor (LBCV)	N/A	N/A
N/A						
N/A	N/A	Meet Requirements	N/A		N/A	
	N/A N/A	Meet Requirements Broward - 09-30-25	N/A N/A	Meet Requirement Broward - 09-30-25	N/A N/A	N/A N/A N/A
				Meet Requirement		N/A
No				Meet Requirement		N/A
No	N/A	Broward - 09-30-25	N/A	Meet Requirement Broward - 09-30-25	N/A	N/A N/A
	N/A No	Broward - 09-30-25 No	N/A No	Meet Requirement Broward - 09-30-25 No	N/A No	N/A N/A No
No N/A	N/A	Broward - 09-30-25	N/A	Meet Requirement Broward - 09-30-25	N/A	N/A N/A
N/A	N/A No N/A	Broward - 09-30-25 No N/A	N/A No N/A	Meet Requirement Broward - 09-30-25 No N/A	N/A No N/A	N/A N/A No N/A
	N/A No	Broward - 09-30-25 No	N/A No	Meet Requirement Broward - 09-30-25 No	N/A No	N/A N/A No
N/A No	N/A No N/A No	Broward - 09-30-25 No N/A	N/A No N/A No	Meet Requirement Broward - 09-30-25 No N/A Yes	N/A No N/A No	N/A N/A No N/A
N/A No N/A	N/A No N/A No	Broward - 09-30-25 No N/A No	N/A No N/A No	Meet Requirement Broward - 09-30-25 No N/A Yes African-American MBE	N/A No N/A No	N/A N/A No No
N/A No	N/A No N/A No	Broward - 09-30-25 No N/A	N/A No N/A No	Meet Requirement Broward - 09-30-25 No N/A Yes	N/A No N/A No	N/A N/A No N/A
N/A No N/A N/A	N/A No N/A No N/A No	Broward - 09-30-25  No  N/A  No  N/A  N/A	N/A No N/A No N/A No	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate	N/A No N/A No N/A No N/A N/A	N/A N/A No No N/A N/A
N/A No N/A	N/A No N/A No	Broward - 09-30-25 No N/A No	N/A No N/A No	Meet Requirement Broward - 09-30-25 No N/A Yes African-American MBE	N/A No N/A No	N/A N/A No No
N/A No N/A N/A N/A NO N/A	N/A No N/A No N/A No N/A N/A N/A N/A	Broward - 09-30-25  No  N/A  No  N/A  N/A  N/A  N/A  N/A	N/A No N/A No N/A No N/A N/A N/A N/A	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE MBE Certificate  No N/A	N/A No N/A No N/A No N/A N/A N/A N/A	N/A N/A NO  N/A  NO  N/A  NO  N/A  N/A
N/A No N/A N/A N/A	N/A No N/A No N/A N/A N/A N/A N/A	No N/A N/A N/A NO No	N/A No N/A No N/A No N/A N/A N/A N/A	Meet Requirement Broward - 09-30-25 No N/A Yes  African-American MBE MBE Certificate No	N/A No N/A No N/A No N/A N/A N/A N/A	N/A N/A NO  N/A NO  N/A NO  N/A N/A N/A N/A N/A
N/A No N/A N/A N/A No N/A No	N/A NO N/A NO N/A NO N/A N/A N/A NO N/A NO N/A NO	No N/A No N/A No N/A No N/A No N/A No N/A	N/A No N/A No N/A No N/A N/A N/A N/A NO N/A NO	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate  No  N/A  No	N/A NO N/A NO N/A NO N/A N/A N/A NO N/A NO N/A NO	N/A N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO
N/A No N/A N/A N/A NO N/A	N/A No N/A No N/A No N/A N/A N/A N/A	Broward - 09-30-25  No  N/A  No  N/A  N/A  N/A  N/A  N/A	N/A No N/A No N/A No N/A N/A N/A N/A	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE MBE Certificate  No N/A	N/A No N/A No N/A No N/A N/A N/A N/A	N/A N/A NO  N/A  NO  N/A  NO  N/A  N/A
N/A No N/A N/A N/A No N/A No	N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO	No N/A No N/A No N/A No N/A No N/A N/A No N/A	N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO N/A	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate  No  N/A  No	N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO N/A	N/A N/A NO  N/A NO  N/A NO  N/A N/A N/A NO N/A NO N/A
N/A No N/A N/A N/A NO N/A NO N/A	N/A NO N/A NO N/A NO N/A N/A N/A NO N/A NO N/A NO	No N/A No N/A No N/A No N/A No N/A No N/A	N/A No N/A No N/A No N/A N/A N/A N/A NO N/A NO	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate  No  N/A  No	N/A NO N/A NO N/A NO N/A N/A N/A NO N/A NO N/A NO	N/A N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO
N/A No N/A N/A N/A No N/A No N/A No	N/A NO N/A NO N/A N/A N/A N/A NO N/A NO N/A NO N/A NO	Broward - 09-30-25   No	N/A No N/A No N/A No N/A N/A N/A No N/A No N/A No	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate  No  N/A  No  N/A  Yes	N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO N/A NO	N/A N/A NO
N/A No N/A N/A N/A No N/A No N/A No N/A No N/A No N/A No	N/A NO N/A NO N/A NO N/A N/A NO	Broward - 09-30-25   No	N/A No N/A No N/A No N/A N/A No N/A No N/A No N/A No N/A No N/A No	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE MBE Certificate  No N/A  No N/A  Yes  SBE Certificate  Yes	N/A NO	N/A N/A N/A NO
N/A No N/A N/A NO NO N/A NO N/A NO N/A	N/A NO N/A NO N/A N/A N/A N/A NO N/A NO N/A NO N/A NO N/A	No  N/A  No	N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO N/A NO N/A	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate  No  N/A  No  N/A  Yes  SBE Certificate	N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO N/A NO N/A	N/A N/A N/A NO N/A
N/A No N/A N/A No N/A No N/A No N/A No N/A No N/A No N/A	N/A  NO  N/A  NO  N/A  N/A  NO  N/A	Broward - 09-30-25   No	N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO N/A NO N/A NO N/A NO N/A	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate  No  N/A  No  N/A  Yes  SBE Certificate  Yes  CBE Certificate	N/A  NO  N/A  NO  N/A  N/A  NO  N/A  NO  N/A  NO  N/A  NO  N/A  NO  N/A  NO  N/A	N/A N/A N/A NO N/A
N/A  NO  N/A  N/A  NO	N/A  No  N/A  No  N/A  No  N/A  N/A  No  N/A  No	Broward - 09-30-25   No	N/A  NO  N/A  NO	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE MBE Certificate  No N/A  No N/A  Yes  SBE Certificate  Yes  CBE Certificate	N/A  NO  N/A  NO	N/A N/A N/A NO  N/A NO  N/A N/A NO
N/A No N/A N/A N/A NO N/A NO N/A NO N/A NO N/A NO N/A	N/A  NO  N/A  NO  N/A  N/A  NO  N/A	Broward - 09-30-25   No	N/A NO N/A NO N/A NO N/A N/A NO N/A NO N/A NO N/A NO N/A NO N/A NO N/A	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate  No  N/A  No  N/A  Yes  SBE Certificate  Yes  CBE Certificate	N/A  NO  N/A  NO  N/A  N/A  NO  N/A  NO  N/A  NO  N/A  NO  N/A  NO  N/A  NO  N/A	N/A N/A N/A NO N/A
N/A No N/A N/A N/A No	N/A  No  N/A  No  N/A  No  N/A  N/A  No  N/A  No	Broward - 09-30-25   No	N/A  NO  N/A  NO	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE MBE Certificate  No N/A  No N/A  Yes  SBE Certificate  Yes  CBE Certificate	N/A  NO  N/A	N/A N/A N/A NO  N/A NO  N/A N/A NO
N/A  NO  N/A  N/A  NO  N/A	N/A  NO  N/A  NO  N/A  N/A  NO  N/A	Broward - 09-30-25   No	N/A No No N/A	Meet Requirement Broward - 09-30-25  No  N/A  Yes  African-American MBE  MBE Certificate  No  N/A  No  N/A  Yes  SBE Certificate  Yes  CBE Certificate  No  N/A	N/A  NO  N/A  NO	N/A N/A N/A NO N/A

### Zones LLC

### Confirmed

### Included

### Included

 A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.

Contractor currently complies

Complies Fully

Included Included

Included

Included

Included

Notice of Statutory Conversion Certificate of Registration

No
N/A
N/A
N/A
No
N/A
Yes
Asian-American MBE
MBE Certification
No
N/A
No
N/A
IN/A
No
N/A
No
N/A
No No
N/A
No
N/A